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G&ItEL 102,505,864 98,744,056 3,761,808
= 36,770,129
[ 808,246
Jl 2,767,697
< 31,264,214
Al 30,895,578
2= JIEXE € od=X 88 102,376,192 98,593,208 3,782,984
= 36,770,129
s 808,246
Il 2,767,697
= 31,264,214
Al 30,765,906
HE=A & Hsd 891,938 1,550,733 A\B58,795
Jl 6,152
== 277,880
Al 607,906
e & IS 17,751 120,205 N2,454
201 er23| 9,080 15,950 26,870
01 At2teltl 7,770 13,260 A5,490
OgiiANg F0tE8E watd M
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5502 *1,0000HK 550
oY4Es A HH+Y
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OdE3gEIt AR oY
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odgdgEitus JA==g
370,000 432 1,480
OtEZMEF WS HA+g
370,000& 22 740
2 s5=34l 120 1,500 1,380
O=Ra(HOIZ W) #=2=
10,0003 x 122 120
03 A= 1,190 1,190 0
O2HES FSA BEE MH
70,0002 *17E 1,190
203 gR=4| 2,200 2,200
03 A=A 2= 2,200 2,200
OWEIIE AIHF=X 2,200,000& 2,200
206 M=l 9,000 12,000 /3,000
01 M=4l 9,000 12,000 A3,000
oNgAdEsE 7Y 4,500,000 <22 9,000
301 Eet2 NS 1,750 1,750
11 #AIAHIXIE S 1,750 1,750
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OWEXNE=A & &E Wedl 44X 04|
50,0002 +52413] 250
OGISNEX & DS &I o1t
50,0002 x5 1 250
OWAXIEX M=0Ha L AMOILE 40|
75,0003 *10E*12] 750
OWd=x:2D1E & U3l AT ol
50,0002 x 101 500
307 gl2to| & 95,721 88,305 7,416
03 PIZAHHEE 22X 48,721 46,305 2,416
OWd=HAME sl =38l
48,720,250 11 2 48,721
04 QIZHHAIAIH E X 47,000 42,000 5,000
os=0dia I
4,000,000 12} 4,000
O dA &ldal Ji= 3,000,000& %12 3,000
©3.8 ogeld 5,000,000& *12] 5,000
od=sEA XNE 25,000,000 12l 25,000
O04EHEs f3s
10,000,000 *13] 10,000
dHESF2 JISA KIE 22,500 22,500 0
307 212+0| & 22,500 22,500
04 QIFHALAI I B 22,500 22,500
OYHBS %2t G X2
22,500,000 *12] 22,500
OlsdtdXgeii=2d 7,000 11,000 24,000
201 et 3| 7,000 11,000 24,000
01 At22t2l] 7,000 11,000 24,000
OAREE IS FHMgt
50,0002 10 *22] 1,000
O0ts,0d td2d E2= S MA
2,000& *1,000H 2,000
OOtsSHEHEXHAL HHe § =29
500,000 *42] 2,000
OOISHEATXHAN 2HAR S+
g 100,000 x10& #2323 2,000
SEEoik Xg S22 0 8,788 10,195 1,407
Jl 6,152
[ 1,318
Al 1,318
201 Ler23 | 8,788 10,195 1,407
Jl 6,152
s 1,318
Al 1,318
03 A2 I 8,788 10,195 1,407
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Ood=EdUoii X2, =522
8,788,000 * 100 2 8,788
Jl 6,152
[ 1,318
Al 1,318
M, 828 Toiotd XNSgsitedd ds2elAg 12,750 12,750 0
= 3,825
Al 8,925
201 er23y| 12,750 12,750 0
= 3,825
Al 8,925
03 A2 | 12,750 12,750 0
OJ1E, 8= WFHIE XNAHSIHS &
S22 At
50,0003 1021+ 152+500,000& *102/+250, 000&
12,750
== 3.825
Al 8,925
ROt ZHoY U= 5,100 3,400 1,700
201 er23| 5,100 3,400 1,700
03 Ar=EHI 5,100 3,400 1,700
HOopts FHUY WS 340,000& x 152 5,100
CXNE2d=5 Ui 1,156 1,156 0
= 347
Al 809
201 fer= 3| 1,156 1,1% 0
s 347
Al 809
01 At2t2l] 1,156 0 1,156
OUXEL=S HloiXd HEN2H & o
cIXgt 24 115,600& *102] 1,156
& 347
Al 809
L= RS OoHA+ X1 4,500 9,000 24,500
307 el2to| & 4,500 9,000 /4,500
04 QIZIHAIAME 2 & 4,500 9,000 24,500
OLEZ LT HIoHAt JIEAY
4,500,000 * 10K 2= 4,500
et Al &4 20,400 0 20,400
201 =3 7,000 7,000
01 AtR2t2l] 5,000 5,000
ONdEst=Al B2 2,000,000& *22 4,000
O dzalat=Al &4 823 a4+¢
100,0002x102*13] 1,000
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03 Ar=EHI 2,000 0 2,000
OAI2FNE NGtz & SgHatus
2,000,000& %12 2,000
301 EtE2 NS 8,400 0 8,400
14 0Bt 243 8,400 0 8,400
OATIEOGIE By
35,0003 *23|x12& « 10 8,400
303 Zal= 5,000 0 5,000
01 Za= 5,000 0 5,000
oS+RA ZYB N
5,000,000& 12l 5,000
28BS CINSE XA 25,133 25,133 0
= 7,540
Al 17,593
201 Zet=3h] 25,133 25,133 0
=S 7,540
Al 17,593
01 AtR2te|Hl 5,133 5,133 0
OYHEsuE EZ=2 A
2,566,500 =22 5,133
< 1,540
Al 3,593
03 A=Y 20,000 20,000 0
OUMBE TRWS X8
200,000 *1002 20,000
= 6,000
Al 14,000
dEHAHEA 29 8,500 0 8,500
< 2,550
Al 5,950
201 er23 | 6,500 0 6,500
= 1,950
Al 4,550
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= 1,350
Al 3,150
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2,000,000& %12 2,000
< 600
Al 1,400
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OSAHEOIESX? OHdH 2g & Iz
=l 2,500,000 83 = +23 40,000
== 20,000
Al 20,000
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ORC-Egd 2HE= O
35,000,000 x13] 35,000
== 17,500
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OdESUAE AeZat
10,000, 000& *32] 30,000
= 15,000
— 5 —




A HEIED
M 9% JiEY @ 0E=T =X
=2l EsA & s EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,000
301 LEtE NS 120,000 240,400 120,400
== 60,000
Al 60,000
14 JIEt2 = 120,000 197,800 AT7,800
OSAAMBIA OHLIZ SSHI(14HX1)
50,0002 *1,6002] 80,000
= 40,000
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s 20,000
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& 40,000
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02 2B YA E X 80,000 0 80,000
OUEZISIEAl S2AE (28Xt Hel)
10,000, 000 *37H 30,000
= 15,000
Al 15,000
OUHEESZAl S2AG-(&I7LIR])
5,000,000 * 1074 50,000
[ 25,000
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sS=sHod 29 100,000 0 100,000
= 50,000
Al 50,000
201 eer23| 60,000 0 60,000
= 30,000
Al 30,000
03 &A=& 60,000 0 60,000
OUtHHE =g € A 23t
2,500,000 <8 A-*232] 40,000
[ 20,000
Al 20,000
OOHAEE 2N S 23t
5,000,000& 42| 20,000
= 10,000
Al 10,000
301 Eet2 NS 40,000 0 40,000
== 20,000
Al 20,000
11 AALAEIXIE S 40,000 0 40,000
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01 AlZ8| 60,000 84,000 24,000
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Os=2=8 S X 2,000&1,000H 2,000
O0F=J| & X 70,0003 x1CH* 122 840
odgis 2E92 =€
50,0003 %421 %42 800
2 s5=34l 7,966 7,120 846
oagA X2AHI(BBR3 S)
450,000 1200 & 5,400
OdEax 28 A2 SA
300,000 *22] 600
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55,000 *43] 220
O=EE0HL=XAIEE 23]
450,000 12 450
OE=IIE=S - 455484 23 A3
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OAGMASIEZ N 0|22
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01 22X +&H| 10,000 20,000 10,000
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SA - ZE . BR(8) - HRAR - BES of v e HIDE2
01 At2t2ltl 2,250 0 2,250
OUINERIEHA NHEST} 319 A+
50,0002 x 152 +33] 2,250
03 A= I 5,900 10,600 A4,700
OXS&SIot 28 ZA=E 5,900
OUXECIEHeIAl NGasSot Exus &
Ab==E 700,000 <22 1,400
OUXELC A NGt ZAtE
150,000& »302 4,500
CIXELEA GZAS 1,300 2,400 21,100
201 er23| 1,300 2,400 21,100
01 AtR2t2|HI 1,300 2,400 21,100
oxme =223 S M
5,000 »200K 1,000
OeIMHl & M=Hl S 100,000 *32] 300
LKA F=HIIA 9,800 145,508 135,708
201 er23 | 7,800 6,000 1,800
01 At2teltl 7,800 4,800 3,000
O34 iz ¥ 2elHlS
130,000& 50 A+ 1200 2 7,800
301 EetE2 N = 2,000 5,000 A3,000
02 NBI2HHSFS(HAAS, NLHE) 2,000 0 2,000
OZEHUo A =HXEAIE 2= X
400,000 *59H 2= 2,000
HELHEIXIE (S E 04 30,000 0 30,000
= 9,000
Al 21,000
201 er23 | 9,000 0 9,000
= 2,700
Al 6,300
01 AtR2t2|HI 8,000 0 8,000
o¥cd 2 234l
50,0003 x4& 403 8,000
s 2,400
Al 5,600
2 S5=2g4l 1,000 0 1,000
oXIIRs, == 100,000 * 102 1,000
S 300
Al 700
301 LEtE N = 1,000 0 1,000
= 300
Al 700
4Bt 2as 1,000 0 1,000
OANH, 225 100,000« 102 1,000
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< 300
Al 700
405 AtatE = 20,000 0 20,000
= 6,000
Al 14,000
01 ML ESFSHI 20,000 0 20,000
ON&II, AT P& 3,333,333 2 *6H 20,000
=S 6,000
Al 14,000
2A20HE 2 O23IEXE 4,449,940 4,264,202 185,738
= 1,497,465
Jl 770,759
= 506,734
Al 1,674,982
22IHE X HE =2 304,740 297,440 7,300
Jl 152,370
< 45,711
Al 106,659
307 glztol & 304,740 297,440 7,300
Il 152,370
== 45,711
Al 106,659
05 2ItRIE = 304,740 297,440 7,300
OAHZINEXHHE 2SS
304,740,000 *10H 2~ 304,740
Il 152,370
== 45,711
Al 106,659
otol=EXIH 2,018,700 1,803,458 215,242
= 1,413,090
s 181,683
Al 423,927
307 @I2t01 & 2,018,700 1,803,458 215,242
= 1,413,090
= 181,683
Al 423,927
05 212+ = 2,018,700 1,803,458 215,242
O0I0I=8 XA MEIA HMSI12 289
2,018,700,000& * 10 2 2,018,700
= 1,413,090
= 181,683
Al 423,927
SSF0tU=sE 2 386,358 383,922 2,436
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307 gIzHol ™ 386,358 383,922 2,436
| 193,179
& 57,953
Al 135,226
05 QIZ2tREI S 386,358 383,922 2,436
O03ss0lLU=H 2Y
55,194,000 70 2~ 386,358
| 193,179
& 57,953
Al 135,226
FHARDIDIIEKIA 168,750 165,620 3,130
= 84,375
& 25,312
Al 59,063
307 QI2Hol ™ 168,750 165,620 3,130
= 84,375
& 25,312
Al 59,063
05 QIZtRES 168,750 165,620 3,130
OII=s|YE ALY
168,750,000 * 104 &~ 168,750
= 84,375
= 25,312
Al 59,063
MU=2 slZLS2| 4,000 4,000 0
& 1,200
Al 2,800
307 QI2Hol M 4,000 4,000 0
= 1,200
Al 2,800
11 AL =SXAMSES 4,000 4,000 0
ONUEZ s LLI=IIAIE
4,000,000& * 170 4 4,000
= 1,200
Al 2,800
Ch23tE E43AY 457,718 446,442 11,276
| 228,858
= 68,657
Al 160,203
307 QI2HOl A 457,718 446,442 11,276
| 228,858
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Jl 32,813
< 9,844
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ot=2=hE Hsoge XI&
39,344,000 * 100 2 39,344
) 19,672
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70,062,000 * 100 £ 70,062
) 35,031
= 10,509
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OMUIYS U IS S Y2DIAYIA
A& 184,150,000 *1JH 2~ 184,150
Il 92,074
= 27,623
Al 64,453
OCI231E Atddl2tel X
74,036,000 * 11 £ 74,036
Il 37,018
= 11,104
Al 25,914
OZE0|2UXt &Y=t
24,500,000 %10 £ 24,500
Il 12,250
= 3,675
Al 8,575
CHE2HE =SIHIIA 116,667 116,667 0
== 35,000
Al 81,667
307 212+01& 116,667 116,667 0
< 35,000
Al 81,667
05 2IIRIE =2 116,667 116,667 0
OLt=Z3 OiSEAtY 116,667,000 116,667
= 35,000
Al 81,667
CrE22tU=H ALK 20,000 20,000
307 @20l & 20,000 20,000 0
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05 QIZtRES 20,000 20,000 0
OCIZSUH=EHM ALK&
20,000,000&*13] 20,000
220 & U2SEXAEE 29 (XHA) 472,59% 517,870 A5,275
201 Lt | 800 0 800
01 At 22|l 800 0 800
OURII=ENAE s oL
100,000 *4 H »23| 800
307 2I2+01A 471,79% 499,870 A28,075
05 2IZtRES 471,795 499,870 A28,075
OKZLUAAUCI XA (el24d],2dl)
2,445 ,0002 1B *122+333, 3302 » 12 33,340
O/ LAAULC! X2 AIS (AFLH])
70,000,000 100 2~ 70,000
O/ LAAUC XIAAIE (HMAH])
120,000 x 18 %1201 & 1,440
OHZLIIH NN ZHE SARE(HE, Al2HS
) 11,666,660 x 1201 & 140,000
OUZSINEXAHE BSAXS(SE, Al2H
2/) 7,088,333 1200 & 85,060
OCI230|F0UEA A M SY XA (21 24H])
2,280,000 1200 & 27,360
OCtt230IF2IE4 AHEH(2YY])
300,000& 103! 3,000
OCI230|F0IZ AHIE (AFZHI)
730,0002 103! 7,300
OCI230|F0IE A AHIE (MM 4&HI)
90,000 % 12J1 & 1,080
OS3I SHY XA (e124811Y)
2,010,5802 12012 24,127
OS3t S8 XA (AIEHI)
350,000& 103! 3,500
OS3 S8HY X2 (22H])
200,000& 103 2,000
OS3 SHY X2 (XMIMAl)
90,000+ 12& 1,080
OF =Y ICIUIOIE X (el2dd])
2,060,600& 1200 & 24,728
OF &2 ZCIUI0IE XI& (AHI)
1,230,000& 103 12,300
OF =Y ICIUIOIE X (249dl)
200,000 *103] 2,000
OF =Y ICIUIOIE X2 (MME])
90,0003 123 1,080
OYZWERXTA HRMH (2%, 0SH|) X
_O‘:]
192,9702 7B+ 121+ EH(1,190,000&
17,400

_13_




A HAIED
B 9. OIENY U 042X B2
chel: 202018 2 CHRSIiEXR (SHol: )
SA - ZB . 9(B) - NIRAD - BaS ol b e HlmS2
OAHZINEXIAHE AL ALY
1,250,000& = 1201 = 15,000
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& 44,481
Al 103,789
307 212+01 A 296,540 291,440 5,100
| 148,270
= 44,481
Al 103,789
05 QIZtRES 296,540 291,440 5,100
OCHZSIISKI2MEH 2Z XA
199,700,000 * 100 &~ 199,700
| 99,850
= 29,955
Al 69,8%
Oz0It= Z220IF0A CHOIS ALY
5,940,0002*1JH 2 5,940
| 2,970
= 891
Al 2,079
OCt=3tots &g e A28 oMt
= 90,900,000 * 104 & 90,900
J| 45,450
= 13,635
Al 31,815
s=3sHd XA 75,000 75,000 0
J| 37,500
= 11,250
Al 26,250
307 212+01 A 75,000 75,000 0
| 37,500
= 11,250
Al 26,250
05 2IZ2tRES 75,000 75,000 0
o=s=s3sH A&
50,000,000 171 215,000,000 & *5JH 4~ 75,000
| 37,500
= 11,250
Al 26,250
AMNI=R2L2E BiIXl XI& 10,582 8,272 2,310
| 10,582
301 LB F 10,582 8,272 2,310
| 10,582
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0 AR=R22as 10,582 8,272 2,310
OAZIER2¥ BIXIXIH
881,833« 1H*12& 10,582
Jl 10,582
2AHE, U2SEXJEE SAK MM 2N 108,290 109,071 AT81
Al
= 32,487
Al 75,803
307 el2to| & 108,290 109,071 AT81
S 32,487
Al 75,803
05 git?(& = 108,290 109,071 AT81
OAYIE XN HHE SANK LI ZH
4l S 22yl N2
5,491,916 1204 & 65,903
== 19,771
Al 46,132
OUEZ3IEXN2HH SAM LIS &
UTAY S 12| ZIIKI
3,582,250« 1200 & 42,387
= 12,716
Al 29,671
121 o= K& 10,000 0 10,000
=S 3,000
Al 7,000
307 21201 & 10,000 0 10,000
< 3,000
Al 7,000
05 2ItRIE = 10,000 0 10,000
OF=E 120 NEAY F4
10,000,000 * 100 2~ 10,000
= 3,000
Al 7,000
SRS X 2,394,200 2,011,000 383,200
Jl 1,704,800
= 279,910
Al 409,490
NAS stRZ2IIE daetd 255,000 250,000 5,000
= 63,750
Al 191,250
301 EtE2 N = 255,000 250,000 5,000
=S 63,750
Al 191,250
02 ARI2HHSHS(HAAS, XNLHE) 255,000 0 255,000
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M B . IIKNE € E=X S&
ce: SE2IIE XA (SH9 H2)
S B SR (BI) - HISAY - BAS Ofl by e MimE=E)
ONAS 81200i% staxat|
200,000& *2302+300, 000& #1402 +400,000& * 14
0™ 144,000
& 36,000
Al 108,000
ORAS 822J1% BSY)
300,000& %3700+ 111,000
< 27,750
Al 83,250
SIRERIIE AEH=H S K& 2,105,200 1,712,500 392,700
J| 1,684,000
< 210,600
Al 210,600
301 LEIEXNZ= 2,105,200 1,712,500 392,700
J| 1,684,000
& 210,600
Al 210,600
01 AFRIE X X462 (ZDEXZME) 2,105,200 1,712,500 392,700
OHRBIIE R OISYSH| X
200,000 128 *820%+100, 000& * 12& * 10H
1,980,000
J| 1,584,000
& 198,000
Al 198,000
OStR2IHY XHH FII0ts¢=H| XI&
100, 000& * 122 55 H 450, 000! x 128 x90H 120,000
J| 96,000
& 12,000
Al 12,000
OStER2I1d X4 s2EH| A
93,000& *55 2 +85,000& 5,200
J| 4,000
= 600
Al 600
HAESIER & X3 26,000 40,500 A 14,500
J| 20,800
= 1,560
Al 3,640
301 LEtEX 2 26,000 40,500 A 14,500
J| 20,800
& 1,560
Al 3,640
01 AFSIEA XM A6 2 (Z2DEXME) 26,000 40,500 A 14,500
OFAYE 22 1Y ots2d=d| XA
150,000& 13 x 128 23,400




A HEIED
M 9% . 1=K ¥ 08=T =X
&t RIS X# (SH &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
7l 18,720
=S 1,404
Al 3,276
OHAH B2 XY X4
100,000& x2E %122 +200,000& 2,600
Il 2,080
s 156
Al 364
SIREEIMETIE et X 8,000 8,000 0
& 4,000
Al 4,000
301 LEtE NS 8,000 8,000 0
= 4,000
Al 4,000
02 A2 A LGS (FHAAHS, NSWE) 8,000 0 8,000
OB=DIIETI Ttesa Xg
800,000 %10 8,000
=S 4,000
Al 4,000
MELH A =& 3,073,200 3,791,300 AT718,100
= 1,177,800
=S 190,260
Al 1,705,140
401 N2 1,261,200 1,655,300 394,100
301 LEtE NS 1,261,200 1,655,300 394,100
03 A 2H A4S (XL THH) 1,261,200 0 1,261,200
OXMOot EdXIE= 1,170,000
O M 500,000 x468H 234,000
O=M 1,000,000 346 346,000
OA'M 5,000,000& 78 390,000
O MOl & 10,000,000 +20& 200,000
OgdAg F0tES XI&=
100,000& x912H 91,200
Rotd olEd X 1,812,000 2,136,000 A324,000
= 1,177,800
< 190,260
Al 443,940
301 EtE NS 4,000 534,000 530,000
= 2,600
== 420
Al 980
01 Al 2E A S(SRNEXMHE) 4,000 534,000 530,000
oxetdogad X (a3)
2,000,000 x2H 4,000




SAE O4*Uh_lk

T =X 2 oja=T BT
=Ck Iig RIS (Er9 &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 2,600
=S 420
Al 980
308 AFAIEHMSOIH 1,808,000 1,602,000 206,000
= 1,175,200
= 189,840
Al 442,960
11 S| 2SO0 UeZB XA AIE 1,808,000 1,602,000 206,000
oxergolgd X (<)
2,000,000 ~904& 1,808,000
= 1,175,200
= 189,840
Al 442,960
Hgodyg 29 242,284 232,420 9,864
SEREE 212,284 230,420 9,864
201 B2t 75,104 70,640 4,464
01 Al 221 11,904 8,840 3,064
O05HY 2 AREE Y
350,000& 122 4,200
OuUSE HIS(22d) 7Y
400,0002  12& 4,800
O0ioIRY NEM 2T 2IBN M
7262 +1,00008*4=2 7| 2,904
® Z=2H| 63,200 61,800 1,400
ONMOAREY AILBRIBS U U4+ RE
2,000,000& ~12& 24,000
O0&dY 2% |KA=eHl (HIIZ, &=
&, 84l S) 3,100,000&  12& 37,200
ONgodg AME A2 UHISA
1,000,000& *22] 2,000
206 MH=HI 500 500
01 MHZHI 500 500
000 MY T 2| %E DY
10,0003 %50 500
301 EtE N = 161,280 161,280
14 DBt 2 a3 161,280 161,280
OBMDST2 IAAALE
70,0002 x24 0t =24 3| x42 ) | 161,280
405 KHaHE SH 5,400 0 5,400
01 Tt ESF=HI 5,400 0 5,400
OOHANE FA WHRHE U H# o
SN
3,000,000& * 19H+800, 000 *3H 5,400
Otsel a2 & efd 21,139,360 22,560,994 1,421,634
= 8,861,531
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SN IS

Za: 2% - JIENY L 082K S
SEAL

el Olsel & 2 g (SH9 H2)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
= 718,006
Il 285,986
= 4,588, 164
Al 6,685,673
Ors=XIEa=2d 4,200 4,200 0
201 Let=23 | 4,200 4,200
01 Al2z2lH| 4,200 4,200
OOIES=N A2 3lolaA s
100,000& 10 <22] 2,000
CEESIES 50,0002 #43] 200
OOIS2AIIAS 3lo&MAL
100,000 x10E +22] 2,000
A0t =€ XS 136,800 99,000 37,800
Il 95,760
< 12,312
Al 28,728
301 EtE NS 136,800 99,000 37,800
J| 95,760
== 12,312
Al 28,728
01 Al EEHGIS (2 DEXTHE) 136,800 99,000 37,800
0YAIE YRBES X2
200,000& +57F 123 136,800
Il 95,760
== 12,312
Al 28,728
Fgeots dFEER= XIS 12,540 7,524 5,016
Jl 8,778
s 1,129
Al 2,633
301 22N = 12,540 7,524 5,016
Il 8,778
= 1,129
Al 2,633
01 Al EE A S (FRNEXA) 12,540 7,524 5,016
OFNYYOIE YS2EZ X
627,000 x2H+12&-2,508,000& 12,540
Il 8,778
= 1,129
Al 2,633
glE X2 9,093 8,100 993
Il 6.363
= 819
Al 1,911




A HEIED
M 98 JlENY @ 0E=T =X
&Rl Ots2el A2l & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
301 EtE NS 9,093 8,100 993
Jl 6,363
== 819
Al 1,911
01 AR 2EHSHS(RNEXRTHE) 9,093 8,100 993
oYLHIEX 2,213,250 *42] 9,093
Jl 6,363
=S 819
Al 1,911
gg=otl=s K& 8,000 3,000 5,000
Jl 5,600
=S 720
Al 1,680
301 LEtE NS 8,000 3,000 5,000
Jl 5,600
= 720
Al 1,680
01 Al EE A S (2 RDEEA) 8,000 3,000 5,000
ogx=sts K& 2,000,0002 4% 8,000
Il 5,600
= 720
Al 1,680
EASE0tS NHEEES N2 40,000 25,000 15,000
=S 12,000
Al 28,000
301 EtE NS 40,000 25,000 15,000
== 12,000
Al 28,000
01 ARSI 2E A S(SRNEXME) 40,000 25,000 15,000
OESZZ0s NEEAS
10,000,000 x4 40,000
= 12,000
Al 28,000
225820t MNExE 105,600 39,600 66,000
= 84,480
= 6,336
Al 14,784
301 EtE N = 105,600 39,600 66,000
= 84,480
[ 6,336
Al 14,784
01 AR 2EHSHS(RNEXRTH) 105,600 39,600 66,000




2A:

Ol&ot=0t

Ny 28 IENY W HH=K 53
oels Olsel &l 2 g (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OESZR0IE NE+E
400, 0003 «22H* 1200 & 105,600
= 84,480
[ 6,336
Al 14,784
OrsSEE X2 A%t 197,980 205,093 AT7,113
= 138,586
[ 17,818
Al 41,576
301 LEIE NS 197,980 205,093 AT,113
= 138,586
s 17,818
Al 41,576
01 Al 2E AL S(FREXM) 197,980 205,093 AT,113
ootEYE NHH X
86,0002 x192E »12&-164,000& 197,980
= 138,586
=S 17,818
Al 41,576
Z240ts S48 A& 1,858,392 1,741,362 117,030
Jl 169,485
=S 295,113
Al 1,393,794
301 EtE NS 1,858,392 1,741,362 117,030
Jl 169,485
= 295,113
Al 1,393,7%4
01 Al EE A S (2 RDEEA) 1,858,392 1,741,362 117,030
OZA0IE SAHI X
630 x2502!+8,000& 1,260,000
Il 114,912
= 200,088
Al 945,000
OZA0tSSAHIXI# (XIS 0tSHIEH)
299 x2502!+8, 000&+392, 000 598,392
Jl 54,573
= 95,025
Al 448,794
sPlE E2ssg S48 NE 344,097 417,032 AT72,935
== 344,097
301 EtE N = 344,097 417,032 NT2,935
= 344,097
01 AR 2EHSHS(RDNEXRTHE) 344,097 417,032 NT2,935

_21_




SN HAIIED
M 8% . IENR U G&=X BX
F

cHel: OlSol Aol & & (ol m2)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
0ZE E - 2 - TRY OtS2A N
374H+1152 %8, 000&+17,000& 344,097
& 344,097
IS B30t K& 162,000 129,000 33,000
301 LEtEXZ 162,000 129,000 33,000
02 AIB| 2 & A 25 2(F U HE, KNLHH) 162,000 0 162,000
OIIHFIEOIE YRBEZ
300,000 x45% 128 162,000
Ols=EXI WA IHA XS 116,022 113,026 2,9%
= 58,011
& 17,403
Al 40,608
101 2124d| 116,022 108,666 7,356
= 58,011
o= 17,403
Al 40,608
03 2L22(RIHH) 2224 116,022 108,666 7,3%6
O0ts=2XWAF TIHAXI&
1,611,000& x621x122430,000& 116,022
= 58,011
o= 17,403
Al 40,608
XE0IsSHE 29| K& 231,948 870,960 639,012
rag 115,974
= 34,792
Al 81,182
307 21Zto| ™ 231,948 870,960 AB639,012
g 115,974
c 34,792
Al 81,182
05 QIZtREZ 19,740 100,680 A80,940
OXI=0otsHE 2HHI(30210]4t)
1,645,000& =11 A x 120 & 19,740
= 9,870
= 2,961
Al 6,909
10 AISISXIAIEBEE2IHIEX 212,208 770,280 AB58,072
OXIH0t=HEH 29I (E=S T AI29210(6t)
1,384, 000& =101 Ax 120 = 16,608
rag 8,304
< 2,491
Al 5,813
OXNY0l=sHE 29H(E=E % H29010(6t)
1,580, 000& *57H A~ * 1201 246,000,000 100,800




SN IS

Za: 2% - JIENY L 082K S
SEAL

Chel: 019l 49 & Bkl COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 50,400
=S 156,120
Al 35,280
OXIOISHE 2HHI(102 0/2H)
1,090,000& * 104 A% 1290 2 13,080
s 6,540
s 1,962
Al 4,578
OXIotsHIEH 2H((3021014})
1,645,000& * 101 A+ 12J1 2+3,600, 0002 23,340
= 11,670
== 3,501
Al 8,169
OXIHOISHIE] 2| (HEE T AI00I0/4)
1,460, 0002 +2JH A+ 1201 &+23,340, 0002 58,380
= 29,190
< 8,757
Al 20,433
X OtsS I X2 (ZZ2) 54,460 45,531 8,929
= 10,892
Al 43,568
307 el2tol & 54,460 45,531 8,929
= 10,892
Al 43,568
10 AlISXAEEE 22X 54,460 45,531 8,929
ONAOISHEl 2 AIHl W SAlQIT
el 412,000 *1 101 21291 2476, 000& 54,460
== 10,892
Al 43,568
KNS 0tSHE JIsEZAHS 40,000 10,000 30,000
= 20,000
== 6,000
Al 14,000
402 2I2E X201 & 40,000 10,000 30,000
= 20,000
= 6,000
Al 14,000
02 BIENEASEZ(0IETHR) 40,000 10,000 30,000
OXG0tsHH JIsEZ At
10,000,000 *40H 2 40,000
= 20,000
= 6,000
Al 14,000
SEE XQ0tsdE X1 € 2 16,096 13,020 3,076

_23_




2A:

X XH -
o=

Ol&ot=0t

25 JIEXY L 0g=R B
SEAL

Chel: 019l 49 & Bkl COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
307 lztol & 16,096 11,520 4,576
05 2IMRIE =3 16,096 11,520 4,576
OSEE NG O0SHE It Xl SAHAL ¢
rals] 11,0003 *56 Al 2+ 1290 2 7,392
OSEEXNG0sHH =0t 28N
642,0002 174 A+ 1291 2+1,000,000 8,704
OlSEXIAILZ(M2018) BAK MM EHI 81,000 81,000 0
< 24,300
Al 56,700
307 glztol & 81,000 81,000 0
= 24,300
Al 56,700
10 Al SXAAEEHE 22X 81,000 81,000 0
OO0IS=XIAIE SAK MMABI(012AIE
) 140,400 «25E 123 42,120
S 12,636
Al 29,484
OOtSEXIAIE SAHR M (MEAIA
) 180,000 x18F «12& 38,880
& 11,664
Al 27,216
OISSAAIEZ(TENSSHE E&) SAK =& 92,400 76,800 15,600
307 el2to| & 92,400 76,800 15,600
10 Al SAAEEHE 22X 92,400 76,800 15,600
OOtSEXIAIE SAHX MIH&HI(3E0I8H)
100,000 x2S+ 1204 & 2,400
OOtSEXIAIE SAHA HIHEHI(3E014)
150,000 x50 12042 90,000
Olsatsad X (2) 35,250 25,650 9,600
= 10,575
Al 24,675
301 EtE N = 28,250 21,250 7,000
= 8,475
Al 19,775
01 Al EE A S (2 RNEXMA) 28,250 21,250 7,000
OAl€0ts &fsdl XId
1,300,000 *192+350, 0002 25,050
== 7,515
Al 17,535
O=AIZ0tS |
100,000 *32 3,200
= 960
Al 2,240
307 @120l & 7,000 4,400 2,600
s 2,100

_24_




A HEIED
M 98 JlENY @ 0E=T =X
ol O1SOl AfO] B BHAf (Shol: % 2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 4,900
10 Al SXAZEE 22X 7,000 4,400 2,600
ORSMEIIE HEEAY|
200,000 504 A 1,000
== 300
Al 700
OsSdEIHE 2cl2gH|
100,000 504 A+ 123 6,000
= 1,800
Al 4,200
OlSEME LA (ZR) 20,39%5 21,800 1,405
s 6,118
Al 14,277
307 @I2t01 & 20,39% 21,800 1,405
< 6,118
Al 14,277
11 AMEISXAEEES 20,39% 21,800 1,405
OY=,01SAIE0tS EAES 228 X
e 100,000 x1942+5,000& 19,405
= 5,821
Al 13,584
OYSAIL0ts doll2E=AE
100,0002 x102-10,000& 990
== 297
Al 693
OlS MY X2 (Z2) 65,720 37,352 28,368
= 19,716
Al 46,004
301 EtE NS 63,470 34,252 29,218
= 19,041
Al 44,429
01 Azl Heol2(2REEMHA) 63,470 34,252 29,218
OOIS=AAIE HEO0S Al HSEEl
1,104,000 *57H 2 5,520
== 1,656
Al 3,864
OOtS=XAIE d20ts ZAHIXA
2,000 «33E 3652 +460, 000 24,550
= 7,365
Al 17,185
OEA~5Z0ts 2dds HSH A&
1,000,000& 1 1,000
== 300
Al 700

_25_




2A:
X XH -
o e

=aak

Ol&ot=0t

25 JIEXY L 0g=R B
SEAL

Oors2l &2 &2

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
SEEEEETESEE
180,000& x4:2 0| *45% 32,400
= 9,720
Al 22,680
307 @I2t0| & 2,250 3,100 A850
== 675
Al 1,575
11 AMRISXAEEES 2,250 3,100 A850
OXEXNAZZ I K&
100,000& x22E+50,000& 2,250
S 675
Al 1,575
2ES0ts 188 24 504,435 292,256 212,179
= 201,774
S 100,887
Al 201,774
307 elztol & 504,435 292,256 212,179
= 201,774
< 100,887
Al 201,774
10 AlRIS XA EEE 22X 504,435 292,256 212,179
O01Es 24X# 126,108, 7503 4 2 504,435
= 201,774
s 100,887
Al 201,774
Oeloleg &AL X2 60,000 50,000 10,000
307 glztol & 60,000 0 60,000
04 QIZHHAIAIRH 2 & 60,000 0 60,000
O0el0le ALK 60,000
012101=0I8 2t 10,620 10,120 500
201 er2 3| 3,620 3.120 500
01 AtR2telHl 3,620 3,120 500
OZH0IRI0l SO0IE| HREY 442
130, 000& 204 2+ 1204 2 3,120
O3E0i2l0] =0IE HIINESA =8
250,000 #2042 500
401 AlZHIZ S0 7,000 7,000
01 Al&H| 7,000 7,000
ONg0l =01 25 & 22|
3,500,000 +27H 2= 7,000
OlSEStZAIEE 66,600 75,900 29,300
201 fet= 3| 52,800 64,600 211,800
01 AtR2t2lHl 13,000 11,600 1,400




2A:

Ol&ot=0t

M 25 - JIENE &€ Hd=X S8
CHel: 01Ol 49 & EHal COR
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OOISEIst=Al EE2= M
2,0002+2,000% 4,000
Oltszel Ws Wi M=
5,000& *1,0005 5,000
OOtSZBZAl &2(EHAHS S2A=A ME
25,000 85105 2,000
OOtSa otz Al FAARS] 219 A=
100,000 x 102 #2353 2,000
02 S3=gHl 5,000 5,000 0
OXLEIFE S A3
5,000,000& 12 5,000
03 A2 I 34,800 48,000 /13,200
O0ts 0Jt=0l 2218 =29 34,800
OX0obte =01 140,000 1203 16,800
Oogt =0l 29 4,000,000 *32 12,000
ORE =024 HHu=
2,000,000 #32] 6,000
301 22N = 13,800 11,300 2,500
11 AALEEIXIRE S 3,000 3,000 0
OO0ts OJt=0l 2208 oA X2
300,000& *102] 3,000
14 DBt 2 a=S 10,800 8,300 2,500
ootsdelssd gs+e
200,000 43 800
oltsdclus ZA+=E
100,000 * 1002 10,000
OISENRAR 29 10,800 9,600 1,200
201 Ler23 | 8,400 7,200 1,200
01 At2t2ltl 2,400 2,400 0
OOtsEMARE 24|
200,000 %122 2,400
03 A= I 6,000 4,800 1,200
o3& & FJl22 =l
500,000& * 122 6,000
301 2= 2,400 2,400
11 AALEEIXIE S 2,400 2,400
OOtSEHOM A F0A XA
4,000 x50 %123 2,400
ors=g XI& 11,535,076 12,371,878 A\836,802
= 8,074,552
< 1,730,262
Al 1,730,262
301 EtE NS 11,535,076 12,371,878 A\836,802
= 8,074,552
== 1,730,262
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2A:
PSR
ool

VEEp/E
2% - JIEXY L GL=K X
OISol afol B st

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,730,262
01 Al EE A S (2 RDEEMA) 11,535,076 12,371,878 A836,802
O0E4+Y XA (S0X2)
100,000 +9,613& x122-524,000& 11,535,076
= 8,074,552
= 1,730,262
Al 1,730,262
Ots==< XXM AtHl X1 2,700 1,400 1,300
= 980
= 210
Al 1,510
201 eer23y| 2,700 1,400 1,300
= 980
= 210
Al 1,510
01 At2teltl 2,700 1,400 1,300
Oots+g Atd=aHI(22HI)
2,700,000& 2,700
= 980
S 210
Al 1,510
==+ A2 2,679,364 4,116,200 1,436,836
= 1,339,682
Al 1,339,682
301 LEetE2 N = 2,679,364 4,116,200 1,436,836
s 1,339,682
Al 1,339,682
01 Al E2E AL S(FRDEXMA) 2,679,364 4,116,200 1,436,836
o=3I84+Y NN (SHNB)
100,000& *2,233& 122 -236,000& 2,679,364
< 1,339,682
Al 1,339,682
XIOtSHIE JIS22(XHA) 3,000 6,000 23,000
402 212t X201 & 3,000 6,000 /3,000
01 QI X2 AL E R (KEHITHE) 3,000 6,000 A3,000
OdE X0tsHH JIsEZ At
3,000,000 %14 3,000
Ctem SS4H &X & 29 18,760 65,760 A47,000
307 212+01™ 18,760 13,760 5,000
05 2IR”tRIE = 18,760 13,760 5,000
osatigNssdH 28X
1,480,000 *1JH 2=+ 122+1,000,0002 18,760
OLSSXIAIE IAH| =0t X 332,556 273,454 59,102
= 99,767
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2A:
X XH -
o e

=aak

VEEp/E
25 IEXNY ¥ olu=X BF
OISol afol B st

g (ehol:®el)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 232,789
307 gl2tol & 332,55 273,454 59,102
=S 9,767
Al 232,789
10 Al SXA2EE 22X 332,556 273,454 59,102
OOS=XIAIE SALAF 21248] =t XI&
564,260 x50« 1200 = 332,556
< 99,767
Al 232,789
CietssdE 22dl X2 16,000 7,200 8,800
= 8,000
S 2,400
Al 5,600
307 elztol & 16,000 7,200 8,800
= 8,000
== 2,400
Al 5,600
05 2IR”tRIE = 16,000 7,200 8,800
Otig =s4dH 24| X
666,600 x2)H A+ 1294 +1,000& 16,000
s 8,000
s 2,400
Al 5,600
CletNssSdH 21148 X 129,920 53,040 76,880
s 56,260
s 16,878
Al 56,782
307 @I2t01 & 129,920 53,040 76,880
[ 56,260
= 16,878
Al 56,782
05 212t =S 129,920 53,040 76,880
OUEN SSHH 128l X
7,391,000 100 A+ 12J1 245,957,000 1K
2408 112,520
[ 56,260
= 16,878
Al 30,382
OotgN=sHE F=otel2tl
1,450,000 * 14 A+ 120 & 17,400
StiiuloiotsaE =4 363,600 0 363,600
= 145,440
=S 109,080
Al 109,080




A HEIED
M 98 JlENY @ 0E=T =X
&Rl Ots2el A2l & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
201 er23 | 1,520 0 1,520
= 608
== 456
Al 4%
01 At22telt] 1,520 0 1,520
OSINTIBHOIS A S-S0 MAIPIE g
100,000& «15& 1,500
= 600
== 450
Al 450
OSITIHOISAE SIS BN ANSA
lss 20,0003 *14] 20
= 8
< 6
Al 6
405 AHaHE = 362,080 0 362,080
= 144,832
== 108,624
Al 108,624
01 AL =S F=H 362,080 0 362,080
OStHUIcHOtSEE =]
302,080,000& x14] 302,080
= 120,832
== 90,624
Al 90,624
OstiulciotsdE HIE & &Il
60,000,000& » 14 60,000
= 24,000
< 18,000
Al 18,000
S iolots&E 2EX2 365,773 229,554 126,219
= 142,308
== 106,732
Al 106,733
307 212+01& 365,773 229,554 126,219
= 142,308
=S 106,732
Al 106,733
05 eit?(& = 365,773 229,554 126,219
OstiilciotsaE 2SN
177,886,500 20 2 365,773
= 142,308
= 106,732
Al 106,733




2A:

Ol&ot=0t

M 98 JIENY o
CHSl: O1EOl &40l & &AL o 7R)
SN - B CRI(S]) - NISAY - BES A HIm=S2t
Otssitl 233t A 34,900 113,300 AT78,400
201 L2 | 29,500 25,900 3,600
01 AtR2telt] 21,000 18,600 2,400
OO0t=&tt] At
500,000& =123 6,000
OOISEU EZ (XA, 28 S)28 NE
5,000,000& *13] 5,000
OO=StThol e
200,000& *502] 10,000
02 324l 5,500 2,300 3,200
oot=sig R
250,000& =123 3,000
OO0t=stH R =Al2eldl
1,000,000 *12| 1,000
ootsstig R
1,500,000& 12l 1,500
03 A2 G| 3,000 5,000 A2,000
OO0t=sHH g2
3,000,000 *13| 3,000
204 MM AH| 1,800 1,800
03 EZH=F&H| 1,800 1,800
ootssttl &z2l H2FMl =<
50,0003 «3H 123 1,800
301 LBBNZ 2,400 5,000 22,600
2 MIIBEE KITH) 2,400 0 2,400
ostuulaiors
200,000& =12 2,400
307 212+01™ 1,200 70,000 68,800
01 2 =2¥¢+=H| 1,200 0 1,200
Osulaiors
100,000 * 12% 1,200
OtSHNMBE =& 5,000 33,000 28,000
201 LBr23| 5,000 5,000 0
01 AtR22eltl 5,000 5,000 0
O e 0l eHMTH &4 5 22
a] 00,000& * 112 %43]+600,000& 5,000
S49E XND0tsHEH FIHA 37,200 63,600 226,400
s 18,600
= 5,580
Al 13,020
307 212+01 A 37,200 63,600 A26,400
= 18,600
= 5,580
Al 13,020
10 AtSISXIAIE 37,200 63,600 A26,400
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2A:

Ol&ot=0t

M 98 JlENY @ 0E=T =X
&Rl Ots2el A2l & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
CEFEEEESTIE
620,000 50 A+ 12002 37,200
= 18,600
< 5,580
Al 13,020
SHE =SS 24t N 75,476 333,002 A257,526
= 33,138
Al 42,338
201 er23y| 2,000 2,000
02 S3=gHl 2,000 2,000
OSEZUSBHE A& 272 FHIZA
2,000,000 2,000
307 212+01& 73,476 331,002 N257,526
[ 33,138
Al 40,338
05 2ItRIE =2 73,476 120,480 A47,004
OE=d 2SL=sHH N&
5,523,000 120 E*10H A& 66,276
= 33,138
Al 33,138
Os=d 23L==sdH FIHE
300,000 * 1200 2 20 2 7,200
CHEENSsdE 24 70,000 0 70,000
= 50,000
=S 6,000
Al 14,000
402 2I2F X201 & 70,000 0 70,000
[ 50,000
= 6,000
Al 14,000
02 QI XHZ AL E R (01X THE) 70,000 0 70,000
otEgN=sdH XX
50,000,000 *1IH 2 50,000
[ 30,000
= 6,000
Al 14,000
otsgN=sHE JIXHHEl XIS
20,000,000 *1IH 2 20,000
[ 20,000
OLSSXIAIE SAEL A5 AHI 22,800 22,800 0
=S 6.840
Al 15,960
307 @I2t01 & 22,800 22,800 0
< 6.840
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2A:

Ol&ot=0t

M 98 JlENY @ 0E=T =X
&Rl Ots2el A2l & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 15,960
10 Al SXAZEE 22X 22,800 22,800 0
OOIS=XAIE BAX HAZAH X2
50,0002 38+ 12042 22,800
== 6.840
Al 15,960
CrENESSHE SAHA MM 4,320 2,880 1,440
= 1,296
Al 3,024
307 elzto| & 4,320 2,880 1,440
= 1,296
Al 3,024
05 212t =S 4,320 2,880 1,440
OTIENSZHE SAX HSIHAY|
120,000 x3Z * 1200 » 100 & 4,320
== 1,296
Al 3,024
CIENSSHH 3N S4ld| 1,800 1,200 600
= 540
Al 1,260
307 elzto| & 1,800 1,200 600
= 540
Al 1,260
05 212t =S 1,800 1,200 600
Ooltgh=s4dH g% S4dl N&
50,0003 x3&* 1201 2 1,800
s 540
Al 1,260
HE/AEIHE d=xE2x=s X 12,000 0 12,000
= 8,400
s 1,080
Al 2,520
301 EtE NS 12,000 0 12,000
= 8,400
= 1,080
Al 2,520
01 Al EE A S (2 RDEEMA) 12,000 0 12,000
omeIIFSE ¥RBF2 1Y
1,000,0002 x1&* 122 12,000
= 8,400
= 1,080
Al 2,520
AgotsdE € 88 JIsEE AE 140,000 120,000 20,000
== 70,000




2A:

Ol&ot=0t

Ny 28 IENY W HH=K 53
&Rl Ots2el A2l & &4 EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 70,000
402 2IZtA=01d 140,000 120,000 20,000
=S 70,000
Al 70,000
02 RIINEASEZ(0IETHR) 140,000 112,000 28,000
OUAXISOISHEH JIs22
100,000,000 *1IH 2 100,000
< 50,000
Al 50,000
OANXIHOISHE JIS2Y
40,000,000 *1IH 2 40,000
S 20,000
Al 20,000
d20ts2=H A& 3,000 10,000 AT7,000
= 2,100
= 270
Al 630
301 eEetE2 N = 3,000 10,000 AT7,000
= 2,100
= 270
Al 630
01 Al EE AT S (2 RDEXMR) 3,000 10,000 AT7,000
OF20IEL S| X
1,000,0002 x1H <3 3,000
= 2,100
= 270
Al 630
dE0lsEsE378Hl A& 1,000 0 1,000
= 700
= 0
Al 210
301 EtE N = 1,000 0 1,000
= 700
< 0
Al 210
01 AR 2EHSHS(RNEXRTH) 1,000 0 1,000
OltsE= 7l 1,000,000& «1H 1,000
= 700
== 0
Al 210
NotsHE =ot2gdl X2 (KHAl) 61,560 61,560
307 lztol & 61,560 61,560
10 Al2IS XA EEE 22X 61,560 61,560




2A:
PSR
ool

ol

I

2% - JIEXY L GL=K X
SEAL

Oors2l &2 &2

SA - FE - SRA(3H) - MRAE - BES

Ofl &F2H

MEE
Ofl &k2h

OXIHOL=ME It 22HI(10Z 018t
190, 0008 % 10 A+ 1294

FHI(29¢ 015t)

HO

OXSOotSHE =t

H0

380,000 *7IH A x 1200 2

OXIH0tsHIE =t 2HI(30E 014))

570,000& x4 A x 1200 &

F-IO

2,280

31,920

27,360

Zdots ASE2=H X2

SR

=

6,000
4,200

540
1,260

6,000

Mo

=

6,000
4,200

540
1,260

6,000

1,000,000 «1&+6E

Mo

=

6,000

6,000
4,200

540
1,260

6,000

Mo

=

898,344
449,172
134,752
314,420

898,344

307 212+01™

SRR

898,344
449,172
134,752
314,420

898,344

05 BIRtRIEt2

OXISotsHIE 21 24H((3021014})
8,196,000+ 11 A+ 12012

10 MEISXAAEHE2EHIE2X

OXIHOtsHIE! 211H[(299210138t)
5,525,000& 6 A+ 12002

OXIH0otsSHIH I24HI(30210]14})
8,196,000 *3I A= 120H &

98,352

98,352
49,176
14,752
34,424
79,992

397,800
198,900

59,671
139,229

295,056
147,528

44,258
103,270

98,352

79,992
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EAM: -F
B 9. JIENY U 042X B2
@42 Ol=sgd ZZ2RE FX (SH &)
SA - BB - S(3H) - MRAY - BES Ofl by e MimE=E)
Al 18,256
03 2R (RI|H) 22 XNE 4 130,400 128,000 2,400
O0tsSE A 22| AF 2124 H]
2,716,000 *4H *12&+32,000& 130,400
= 104,320
& 7,824
Al 18,256
201 LEH2AH| 61,516 61,516 0
= 49,212
& 3,691
Al 8,613
01 Al 22IH| 18,386 15,330 3,056
OCRAEIEME DoAY B
2,000,000& * 10 2~ 2,000
= 1,600
& 120
Al 280
OEZEAEIEHEH AIREE2L
400,000 128 4,800
= 3,840
& 288
Al 672
OO0l=S&etAtHI 2 eIAI 823 S|
350,000 4 23| 2,800
= 2,240
& 168
Al 392
OO0I=SEE A 22l AF 22|
240,0002 128 2,880
= 2,304
= 173
Al 403
OEHAEE E2 2ES M&E
1,500,000& 23] 3,000
= 2,400
= 180
Al 420
OS2YAAG MG
100,000& *10¥ *13] 1,000
= 800
c 60
Al 140
OS2 AEIEHEH HAD| AXZ2
650,000 13| 650
= 520
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S OIEIIED
Hu: 255
= EVECTED

5 (crel: &8
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 39
Al AN
OLEEAEENE dERSE
50,0002 43 200
= 160
S 12
Al 28
OEZAEEMH agotM2e| 2
1,056,0002 %12 1,056
= 844
= 63
Al 149
02 S3=gHl 18,130 21,186 A3,056
OLEAEENH 3322
1,200,000~ 128 14,400
= 11,520
= 864
Al 2,016
OLEAEEMH 28 RA2H
500,000 52 2,500
= 2,000
= 150
Al 350
O=EAEE MAMAAE SX2el € 22X
= 1,230,0002 %12 1,230
= 984
= 74
Al 172
03 A2 I 25,000 25,000 0
OLYAERE E0tE T2 29
2,500,000& 10 25,000
= 20,000
=S 1,500
Al 3,500
202 04| 12,000 12,000 0
= 9,600
=S 720
Al 1,680
01 2K 12,000 12,000 0
OOtsSEAtdIZelAl 2Z 048]
250,000 ~4H 122 12,000
= 9,600
= 720
Al 1,680
301 22N = 100,644 94,134 6,510




SN OEIIED
M 25 - JIENE &€ Hd=X S8
&Rl Olssley ZEHE X (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 80,516
=S 6,039
Al 14,089
01 Al E2E AL S(FRDEXH) 97,044 90,534 6.510
OCZAEIE BAUE D203 2%
8,087,000& ~12& 97,044
= 77,636
= 5,823
Al 13,585
11 AALEIXIES 3,600 3,600 0
OSEAEE Z20ah HAT 24|
3,0002%100&~12& 3,600
= 2,880
s 216
Al 504
307 212+01& 6,000 6,000 0
= 4,800
=S 360
Al 840
01 2272 H| 6,000 6,000 0
OLSEAEE HZE20d 2
600,000 102 6,000
= 4,800
=S 360
Al 840
FHANE OlSSEMUIAKXIR (XA 25,250 25,250 0
201 223 8,000 8,000
03 A2 I 8,000 8,000
OLEARE JIEE 23 N3A
800,000& x102] 8,000
301 EtE N = 17,250 17,250
11 #AIAMHIXIE S 1,250 1,250
OZEARE IIESE Ao NAMY S2t
Al 3,000& *41&x102]+20, 000 1,250
14 0Bt 2as 16,000 16,000 0
OEEAEE Jt2 N0taE 2 2A=
400,000 x4 %102 16,000
FHANE OlsSEFMUIATZ(OISESHERE ) 112,800 39,900 72,900
= 90,240
== 6,768
Al 15,792
101 e124d| 97,800 36,580 62,220
= 78,240
=S 5,868
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S OIEIIED
Hu: 255
= EVECTED

- (et &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 13,692
03 SRA(RIH )22 HE S 97,800 36,580 62,220
OolSEEHT A Iy
3,260,000 «3H =104 2 97,800
[ 78,240
= 5,868
Al 13,692
201 fer= 3| 2,000 1,920 80
[ 1,600
= 120
Al 280
01 AtR2t2|HI 2,000 1,920 80
OJIEr2ZHI(237Y, A, B=Hl S)
160,000& 122 +80,000& 2,000
[ 1,600
= 120
Al 280
202 O4H| 7,200 2,400 4,800
[ 5,760
= 432
Al 1,008
01 =LHNHI 7,200 2,400 4,800
oolsEsEE e AU
200,000 <3+ 122 7,200
[ 5,760
= 432
Al 1,008
301 EtE N = 5,800 0 5,800
[ 4,640
= 348
Al 812
01 ARRIE2EHSFS(RNEERTHE) 5,800 0 5,800
ORES0ts AclEA & AFHAY|
1,450,0002 x2&H 2,900
[ 2,320
= 174
Al 406
OMBIZSA & Hi=8I
1,450,0002 x2&H 2,900
[ 2,320
= 174
Al 406
SROIE=S A2 AL 69,700,660 63,815,759 5,884,901
= 24,966,885




2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 25,390,464
Al 19,343,311
Oelold &0 (XHA) 360,000 84,000 266,000
401 AIEHIKL =20 300,000 0 300,000
01 Al&HI 300,000 0 300,000
O=Z8 00l aZHd
300,000,000 *19H 2 300,000
402 2I2FX=01 & 50,000 84,000 A\34,000
01 RIS ASE X (XM THR) 50,000 84,000 234,000
ORIZh Ity ==0{8l0l1& &3Hd
4,166,000& » 1201 248, 000& 50,000
ooy == 220,000 120,000 100,000
= 110,000
s 55,000
Al 55,000
402 212+ X201 & 220,000 120,000 100,000
= 110,000
= 55,000
Al 55,000
02 QI XHE AL E R (01X THE) 220,000 120,000 100,000
O=3E0E0E &= 12
110,000,000 *2IH 2 220,000
= 110,000
= 55,000
Al 55,000
HLAIZHM Olelold 29 60,000 60,000 0
307 21201 & 60,000 60,000
11 ARRIS XA E X 60,000 60,000
OFHAIOIAHEI0IE 2
5,000,000& x12& 60,000
Zofotd =2 ofelold =29 12,000 12,000 0
307 elztol & 12,000 12,000
11 MEISXAEEE 12,000 12,000
OHOHOINZ StE0el0ld 23
1,000,000& 122 12,000
B30I KN (HEA) 312,000 312,000 0
== 202,800
Al 109,200
307 212+01™ 312,000 312,000 0
[ 202,800
Al 109,200
11 AMEISXAEEES 312,000 312,000 0
ossEoeod X
5,200,000& x5 A x 12 312,000
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A HEIED
M 9% .= ¥ 0E=T =X
Cel: AR0IE2E KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 202,800
Al 109,200
SEN201E X 6.185 6,185
307 el2to| & 6,185 6,185
1 AMEISXAIEEXS 6,185 6,185
o8 J0I0201E =¥
515,400 x 122 6,185
ESAIE XHXIZE 707,900 1,009,400 A301,500
201 =3 8,900 8,900 0
01 At22t2l] 7,250 7,250 0
O=ESEMARS 3oadsded
100,000 x10E *42] 4,000
OFEZLIHEHS A S0 M=
50,0002 #53] 250
OZgel0ieloly e M
100,000 *300H 2 3,000
03 A2 I 1,650 1,650 0
OOE0lY SALL BN
70,0002 <15 1,050
O0el0ld WA WS A
300,000 *23] 600
301 EtE NS 602,000 903,000 /301,000
14 0Bt 2a3 602,000 903,000 A301,000
OO0 0IZ WAL MIME8l XIS
(100,000 *5602+50, 0002 *385& ) x82 602,000
307 glztol & 97,000 97,500 A500
04 QIZFHAFAIIE X 20,000 20,500 AB00
OAIRIH 2SREE ABLFAI
8,000,000& 12 8,000
O=sgE=|0 el I
2,000,000& %12 2,000
OESWAY AYASIAYE (RTES WA
as) 500, 000& x20H 10,000
06 2= 77,000 77,000 0
O 0IE HESHa SHHIY SHME X
S 77,000,000&x1& 77,000
SL2ZLIHEH 29 8,108 8,366 N258
= 4,054
= 1,216
Al 2,838
301 EtE N = 8,108 8,366 N258
= 4,054
< 1,216
Al 2,838
14 IIEt2 8= 8,108 8,366 N258
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A HEIED
Hy: B .0IENA U HE=X B3
Cel: AR0IE2E KA (St &)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
0=2RLH 2
120,000 * 1 2=+67IH 2468, 0002 8,108
= 4,054
[ 1,216
Al 2,838
AN 2FAHS 48,254 40,754 7,500
= 24,127
[ 7,238
Al 16,889
301 LEIE NS 2,160 2,160 0
= 1,080
s 324
Al 756
14 J|Et2a s 2,160 2,160 0
OAIZEHIZEFAIE XM &t
180,000& x1& =123 2,160
= 1,080
=S 324
Al 756
307 212+01& 37,200 37,200 0
= 18,600
=S 5,580
Al 13,020
11 MBS XA 37,200 37,200 0
OARZHE=S =gl
3,100,000~ 1H« 122 37,200
= 18,600
= 5,580
Al 13,020
308 XXM S 8,894 1,34 7,500
= 4,447
= 1,334
Al 3,113
11 S| 2SO0 UeZBSHASAIE 8,894 1,3%4 7,500
OAIZNESAE 258
8,894,000 x 14 8,894
2 4,447
= 1,334
Al 3,113
dR0IE=E X 15,881,823 20,238,367 AN\4,356,544
= 10,323,185
= 2,779,319
Al 2,779,319
307 gl2to| & 6,000 6,000 0




2A:
X XH -
o e

=aak

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
= 3,900
=S 1,050
Al 1,050
11 AMISXAIEEX 6,000 6,000 0
OYUSBIR(MAFANS L HOH0LS)
6,000,000~ 1OH 2 6,000
= 3,900
= 1,050
Al 1,050
308 AFAIEHMSOIE 15,875,823 20,232,367 A\4,356,544
= 10,319,285
S 2,778,269
Al 2,778,269
11 S| 2S0UeZB XA AIE 15,875,823 20,232,367 A4,356,544
ORI0~2M O2I0IE 01E0ts 282 K&
15,875,823,000& x14] 16,875,823
= 10,319,285
= 2,778,269
Al 2,778,269
23~5MI0t Fel28]= 12,919,680 12,408,406 511,274
< 12,919,680
301 LEtEd 1,101,600 1,101,600 0
= 1,101,600
14 J|EtS & 1,101,600 1,101,600 0
OF2VE HADA HLMAH|
360, 0002 «255H 122 1,101,600
= 1,101,600
307 212+01& 2,707,392 2,707,392 0
& 2,707,392
1 AMEISXAIEEXS 2,707,392 2,707,392 0
OF2InE 2|
59,0003 +3,824F « 12& 2,707,392
< 2,707,392
308 AHAIEMSOIE 9,110,688 8,599,414 511,274
=S 9,110,688
11 SIS0t 4 A AS A 9,110,688 8,599,414 511,274
O=cltd Ex2 9,110,688,000& x 14 9,110,688
= 9,110,688
=g X 966,463 5,294,350 N4,327,887
= 628,201
s 169, 131
Al 169, 131
301 LEtE N 966,463 5,294,350 N4,327,887
= 628,201




FA 8IS
ZH: 25 JIEXY L 042X B8
&el: SR0IES XA (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
< 169,131
Al 169, 131
01 Al EEATZ2(2DEZMR) 966,463 5,204,350 4,327,887
OO0IRI0I DI0IBOIS YH4E X
100, 0002 x805% 127K 2+463, 0002 966,463
= 628,201
< 169,131
Al 169, 131
SFuAE el2dl X2 7,693,955 9,563,612 A1,869,657
= 3,846,977
[ 1,923,489
Al 1,923,489
307 212t01™ 7,693,955 9,563,612 A1,869,657
= 3,846,977
== 1,923,489
Al 1,923,489
11 ARIZEXAIEE X 7,693,955 9,563,612 A1,869,657
OEFXNAHNO0IE -]
1,942,9103 %3308 » 1294 & +31,400& 7,693,955
= 3,846,977
s 1,923,489
Al 1,923,489
Oeloly 2SXA(02018 t&E23I) 216,944 259,040 N42,096
= 108,472
=S 54,236
Al 54,236
307 21201 & 216,944 259,040 N42,09%6
= 108,472
= 54,236
Al 54,236
11 ARRIS XA E X 216,944 259,040 N42,096
OS0IEAT ORI0IE Xz
200,000 907K A+ 123 +944, 000 216,944
= 108,472
= 54,236
Al 54,236
HE0lE 2SR (SHELAM Helo20lE X&) 23,892 23,240 652
= 11,946
== 5,973
Al 5,973
307 el2to| & 23,892 23,240 652
= 11,946
= 5,973
Al 5,973




A HEIED
M 9% .= ¥ 0E=T =X
Cel: AR0IE2E KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
11 AMEISXAEEES 23,892 23,240 652
Os0ELN Heloelod X
210,000 9 A~ +12& 41,212,000 23,892
= 11,946
< 5,973
Al 5,973
Oglold 2SX& (A 01E niHm7l) 60,044 63,122 23,078
= 30,022
< 16,011
Al 15,011
307 lztol & 60,044 63,122 23,078
= 30,022
== 15,011
Al 15,011
11 AMRISXAEEES 60,044 63,122 23,078
O0gl0ld WM m~H|
1,000, 000& *60JH 2-+44,000& 60,044
= 30,022
s 15,011
Al 15,011
SRKNAY HRML N (SESSWA SE2R+E) 405,39 743,220 A337,821
= 202,699
=S 101,350
Al 101,350
301 LEtE NS 405,39 743,220 A337,821
= 202,699
= 101,350
Al 101,350
14 0Bt 243 405,39 743,220 A337,821
OSOEESDA SEa2LY
110,000 x307E »12&+159,000& 405,39
= 202,699
= 101,350
Al 101,350
SN MRML K (DAI2SEZHLH]) 1,415,055 1,808,560 393,505
= 707,527
= 363,764
Al 363,764
301 EtE N = 1,415,095 1,808,560 A\393,505
= 707,527
= 363,764
Al 363,764
14 IIEt2 83 1,415,055 1,808,560 393,505




A HAIED
ZH: 25 JIEXY L 042X B8
Cel: AR0IE2E KA (St &)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
OAIZREZ &I
220,000 & *536%H * 1201 2 +15,000& 1,415,055
= 707,527
= 353,764
Al 353,764
EFNAI HME XN(EZWAF X (2124H) 3,453,171 3,317,680 135,491
= 1,726,585
= 863,293
Al 863,293
307 212+01 A 3,453,171 3,317,680 135,491
= 1,726,585
T 863,293
Al 863,293
11 AR SXAEE X 3,453,171 3,317,680 135,491
OOZI0IE BEXWAF XA (QIZ2HAIA)
1,082,0003 *265% « 124 &+12,411,000& 3,453,171
= 1,726,585
T 863,293
Al 863,293
E=AE R0 244 XA 234,000 234,000 0
301 LBENZ 234,000 234,000 0
03 A3 2 & 262 (XY THA) 234,000 0 234,000
OUEI0IE BRO0t aiLt=2 X3
36,000& *6,500kg 234,000
2l0l& HLHEH| XIJ 42,600 42,600
307 212+01™ 42,600 42,600
11 Al =SXAMSEES 42,600 42,600
OJIEeI0lE W]
300,000 #5501l 2 #23 33,000
OATFZE0IE Htety]
200,000& #2401 2~ *23 9,600
BF SSAIMAY X2 (R0t S2Hal] XI-) 387,900 427,200 239,300
& 116,370
Al 271,530
307 212+01™ 387,900 427,200 239,300
& 116,370
Al 271,530
11 AL =SXAMEES 387,900 427,200 A39,300
OZ =0t =2talHl RI&
300& #5, 172 250! 387,900
= 116,370
Al 271,530
BE SSAIMAY X2 (0o SEES 29XA) 43,200 21,600 21,600
& 12,960
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2A:
PSR
ool

SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 30,240
301 EtE NS 43,200 21,600 21,600
=S 12,960
Al 30,240
14 0Bt 2as 43,200 21,600 21,600
OZ ot SEE=F 2 X2
100,000 x36E « 12& 43,200
< 12,960
Al 30,240
)E% SHAHAY XR(0RI0IE SRDNE 224g 1,357,218 1,461,479 £ 104,261
= 407,165
Al 950,053
301 EtE2 NS 1,357,218 1,461,479 A104,261
== 407,165
Al 950,053
14 JEt2a s 1,357,218 1,461,479 104,261
OORI0IE PRVEY 224
(150,000 x 1805 123 )+(100, 0002 860 * 12
2)+1,218,000& 1,357,218
< 407,165
Al 950,053
2] SHAMAIY XS (2U2H02I01E XHAESZ) 4,117,185 2,208,780 1,908,375
= 1,235,146
Al 2,882,009
308 AHAIEMSOIE 4,117,155 2,208,780 1,908,375
=S 1,235,146
Al 2,882,009
11 S| 2SH U B SHASAIE 4,117,155 2,208,780 1,908,375
ORIZI0EI0IE XHE=E K&
4,117,155,000& =14 4,117,185
< 1,235,146
Al 2,882,009
2] SHAMAY X008 EKE00 XI¥) 1,834,8% 1,823,472 11,424
= 550,469
Al 1,284,427
307 el2to| & 1,834,8% 1,823,472 11,424
= 550,469
Al 1,284,427
11 AMISXAIEEX 1,834,8% 1,823,472 11,424
ooeold 25201 K&
1,125,000 x135E »12E+12,39%6,000& 1,834,8%
[ 550,469
Al 1,284,427




FA 8IS
Ny 28 0IENY W HE=K 53
&el: SR0IES XA (St &)
RA - BE - SHAEH) - HRA - BAS ofl &t e DS
B SSAAY X2 (N0 SEAIS 2| X 7,800 7,800 0
)
= 2,340
Al 5,460
307 el2to| & 7,800 7,800 0
S 2,340
Al 5,460
11 ARRIS XA E X 7,800 7,800 0
OFNOIRSAIL HF2YH| K
650,000& x 104 2% 123 7,800
[ 2,340
Al 5,460
S8 SHAIBAIY KB (2ZE 0RI01T X OFE 45,883 57,360 AN1,472
<01)
= 13,766
Al 32,122
307 gl2to| & 45,888 57,360 A11,472
=S 13,766
Al 32,122
11 ARRIS XA E X 45,888 57,360 A11,472
OEEE 0elold X M0
956,000 x4 2% 123 45,888
< 13,766
Al 32,122
S0 HRMHE K (AIZHH AL 2124H]) 93,848 184,000 290,152
= 46,924
< 23,462
Al 23,462
307 212t01™ 93,848 184,000 290,152
= 46,924
== 23,462
Al 23,462
11 ARRIEXAIEE X 93,848 184,000 290,152
OO 0IE AIZU A WAL Q1 24H]
87,1403 » 122 «89E+782, 480 93,848
= 46,924
s 23,462
Al 23,462
B SESAMAY X2 (KIZAIE SOHEH WA Q124 1,860,000 1,311,300 548,700
X&)
= 558,000
Al 1,302,000
307 212t01™ 1,860,000 1,311,300 548,700
= 558,000
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A HEIED
M 9% .= ¥ 0E=T =X
Cel: AR0IE2E KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
Al 1,302,000
11 MEISXAEE 1,860,000 1,311,300 548,700
OXIZAIE FOHEHWAL Q1A4H| K&
2,066,660 x75E x12JH 2 +6,000& 1,860,000
== 558,000
Al 1,302,000
E;?q SHABAY X2 (BBE 02I01Y DSSBAHM 298,800 149,400 149,400
all
= 89,640
Al 209,160
307 elzto| & 298,800 149,400 149,400
= 89,640
Al 209,160
11 AMISXAIEEXE 298,800 149,400 149,400
O338 001y usetZidsl
100, 0002 x249E 1204 2 298,800
< 89,640
Al 209,160
SN HRME X (RABESAE XIHI) 48,540 58,002 29,462
= 24,270
< 12,135
Al 12,135
301 2eEN= 48,540 58,002 N9,462
= 24,270
=S 12,135
Al 12,135
14 0Bt 2as 48,540 58,002 A9,462
ORAZERF X2
75,0003 53 1271 24840, 000 48,540
= 24,270
S 12,135
Al 12,135
Ol2l0lE JIsSE2EZAIE 4,000 48,000 244,000
= 2,000
= 1,000
Al 1,000
402 2I2F X201 & 4,000 48,000 44,000
= 2,000
= 1,000
Al 1,000
02 QI X2 AL E R (01X THE) 4,000 48,000 A\44,000
OO0l2l0IE JIs2Z(FoHor FbIbI)
4,000,000 * 10K 2= 4,000
= 2,000




A HEIED
M 9% .= ¥ 0E=T =X
&el: SR0IES XA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,000
Al 1,000
2] SSAIAY (K00 LB XH) 79,492 79,492 0
= 23,848
Al 55,644
307 gl2to| & 79,492 79,492 0
=S 23,848
Al 55,644
11 AMISXAIEEX 79,492 79,492 0
OYROF LLIL X
15,360& #5, 172450, 080& 79,492
< 23,848
Al 55,644
ZOHOotS & 2018 XISAH XI& 150,000 67,500 82,500
307 elztol & 150,000 67,500 82,500
11 AMEISXAIEEXS 150,000 67,500 82,500
OZOOISE XIS AF Q12H|
2,750,000 «4E« 122 132,000
OFMOISE XI=ZAt 22EH]
50,0002 x30F 122 18,000
2] SSAAY X2 (ZHES20{21018 HEANME 11,472 11,472 0
S0l Xg)
= 3,442
Al 8,030
307 el2to| & 11,472 11,472 0
= 3,442
Al 8,030
11 AMISXAIEEX 11,472 11,472 0
OFMEZ02I01E XFdE0] K&
956,000« 1H« 122 11,472
< 3,442
Al 8,030
Fot=& 10,261,378 0 10,261,378
= 6,669,8%
== 1,795,741
Al 1,795,741
301 22N = 10,261,378 0 10,261,378
= 6,669,896
=S 1,795,741
Al 1,795,741
01 Al 2E A S(FRDEXMA) 10,261,378 0 10,261,378
ogot=<
300,000& *2,850& x12& 41,378,000 10,261,378
= 6,669,896
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A HEIED
M 9% .= ¥ 0E=T =X
Cel: AR0IE2E KA (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 1,795,741
Al 1,795,741
S8 SHAIAR MO 02101 nRSEINAL) 109,800 109,800
)
S 32,940
Al 76,860
307 @120l & 109,800 109,800
== 32,940
Al 76,860
11 AMRISXAEEES 109,800 109,800
SR SHAIMAIR NROIE0R0IE B
SEZN&HI) 50,0002 x183E * 1204 E 109,800
S 32,940
Al 76,860
95 SHAAR N (NFAE DSSHZNAY N 115,800 115,800
)
=S 34,740
Al 81,060
307 @I2to| & 115,800 115,800
== 34,740
Al 81,060
11 AMRISXAEEES 115,800 115,800
OHS SHAUAY NS (NBAIL DS
ZoHAEl X&)
50,0002 x1930 B+ 12 115,800
= 34,740
Al 81,060
SOISEXNHE X 1,250,000 1,250,000
= 500,000
& 250,000
Al 500,000
401 Al HIZL 201 1,250,000 1,250,000
= 500,000
< 250,000
Al 500,000
01 Al&HI 1,250,000 1,250,000
O=F 0SS A AHE AlLH|
1,250,000,000& x14] 1,250,000
= 500,000
== 250,000
Al 500,000
2] SSAAY XA (02018 2R3HI) 2,586,000 2,586,000
= 775,800
Al 1,810,200
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2A: HAIE
M 9% )1ENY W HE=T =
t?l: R0IEF XA EER=E)
SIA - BE - O9I(B) - NIRAIY - AR Ol b e HIR=2
307 212+01 A 2,586,000 0 2,586,000
& 775,800
Al 1,810,200
11 AL =SXAMEES 2,586,000 0 2,586,000
ONe0ld EeAI
50,0003 *4,3108+12& 2,586,000
T 775,800
Al 1,810,200
HAERE X|& 36,000 0 36,000
= 18,000
T 5,400
Al 12,600
HAUERE Ots ¥=H| A& 36,000 0 36,000
= 18,000
& 5,400
Al 12,600
301 LPENZ 36,000 0 36,000
= 18,000
& 5,400
Al 12,600
01 A BE X2 (2 RNEETE) 36,000 0 36,000
OFALAEHRER Ots Y=Hl XI&
200,000 12«15 36,000
= 18,000
T 5,400
Al 12,600
HHY2AZHI(HEIIE) 129,672 100,848 28,824
234 129,672 100,848 28,824
B2 I | 129,672 100,848 28,824
201 Let23H| 54,312 42,408 11,904
01 At 22|l 54,312 42,048 12,264
O=&tl 8,000 x31H 7+ 12& 20,832
oYet=ZH| 90,0003 +31&x12& 33,480
202 0idl 68,880 51,840 17,040
01 =LHO4b]| 49,680 51,840 A2,160
OYRF& J|=20|
180,000 x23F =123 49,680
02 2oL 19,200 0 19,200
OMAEEX SHAYI
200,000& x8F »12& 19,200
203 PRF=&H| 5,280 5,400 2120
M RA2GHRFALI 5,280 5,400 A120
ORNZIYRFAI 440,000 128 5,280




A o&IED
M AHAM2HAHI(HAIIE)
&t JI=Z

% ol(5 =) (=] OH s
SN - ZE - SRA(B) - NIRAY - BES 0l & 0] o8
204 M43 AY| 1,200 1,200
NEEEECRRTEL] 1,200 1,200
OXHZ YR HA| 100, 0008 128 1,200




